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QUESTION 1

On Linux and Unix systems, which of the following will set the DB2_FMP_COMM_HEAPSZ registry variable to 1 GB (or
256000 pages), only for the instance db2inst1?

A. As the db2 instance owner (db2instl) execute the command:exportDB2_FMP_COMM_HEAPSZ=256000

B. Add to the following line to the userprofile (db2instl): DB2_FMP_COMM_HEAPSZ=256000

C. As the db2 instance owner (db2instl) execute the command:db2set ? DB2_FMP_COMM_HEAPSZ=256000

D. As the db2 instance owner (db2instl)execute the command:db2set ? db2instl DB2_FMP_COMM_HEAPSZ=256000

Correct Answer: C

QUESTION 2

Which of the following statements about compression for BLU MPP tables is TRUE?

A. Compression must be explicitly enabled for BLU MPP tables

B. Compression requires decompression to evaluate partition joins

C. Unique compression dictionaries are generated for each partition

D. Each table has a single compression dictionary that getsreplicated across all partitions

Correct Answer: D

QUESTION 3

What is an advantage of using range partitioned tables?

A. Abilityto run utilities against the partitions in parallel

B. Increased query performance through data partition elimination

C. Block indexes are much smaller than RID indexes, providing better performance

D. Table data is automatically and continuously clustered, requiring minimal reorganization

Correct Answer: B

QUESTION 4

Which of the following SQL statements will list table spaces whose utilization is greater than 95% and may potentially
fill, returning an error?

A. SELECT tbsp_name, thsp_utilization_percentFROM TABLE(sysproc.mon_tbsp_utilization()) AS tWHERE
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tbsp_utilization_percent > 95AND tbsp_auto_resize_enabled = 1;

B. SELECT thsp_name, tbsp_utilization_percentFROM syscat.mon_tbsp_utilizationWHERE thsp_utilization_percent >
95AND thsp_auto_resize_enabled = 0;

C. SELECT thsp_name, tbsp_utilization_percentFROM syscat.mon_tbsp_utilizationWHERE thsp_utilization_percent >
95AND thsp_auto_resize_enabled = 1;

D. SELECT tbsp_name, thsp_utilization_percentFROM sysibmadm.mon_tbsp_utilizationWHERE
tbsp_utilization_percent > 95AND tbsp_auto_resize_enabled = 0;

Correct Answer: C

QUESTION 5

What does dsmtop use to gather metrics?
A. db2pd

B. db2dart

C. the system catalog

D. monitoring tablefunctions

Correct Answer: D
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